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HELLO EVERYONE! o _ _
Let us start with the next chapter V\l/h’tc!‘ 13 e‘i’r:ge‘i English News
. (ENRs). This is the last chapter that 1S required. .
Rc? 03}:{({5: English News Reports (LSt 4l & Lay! 5, ).

Go to page 57: I —— e e
T ¢ el e SR R e CHAPTER 4 i v e e
VULl ENGLISH NEWS REPORTS o

introduction:

News repotts, be they Arabic or English, are based on facts; they are
on current events. Their main function is informational, and they usually
are as objective and neutral as possible. A news report is usually written
in an “inverted pyramid style, that is, the most important facts come first
followed by other facts in order of significance.

- Inverted pyramid: « st a»

- Objective: 4= 55
- Neutral: unbiased (Jsis x&/ss)
The translation:

ML RO v

Of Sdxl g0 i Bilas Gle };Zmrae)'-:‘ﬁy‘ _91?3._._._,_‘!1 ;Ub cals elgw 3LV 5l

28 Buslrag e giinge (55 Le Bale uolall oday 2ked Rl Lgadsys @la ol
‘ - Uit

Yyl b el L5V mlamtl ol Gl Ctall apell Gigtuly” Sale LNy ml a8,

| "Agusanl Gamn (5,50 Filasmy wiig

ook o

Goon:

News reports are addressed to a large stratum of receivers who are of
different ages and belang to different educational backgrounds. This
explains the tendency of news reports to avoid using a highly specialized
language, relying instead on a language that is suitable for the lay text
receiver who actually needs to exert minimal efforts in the process of
decoding the text.

« Stratum:isg »

- Lay receiver: gl il
- Tendency: 4> 5/
The translation:

Oselng Aaliea jlael 0535 cp il OAEtA Cpo Rewly Ly y 5 O] 4}3: oLadl ok
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8 pladeiol o ® G Ll GalS da 5/ ke s La iy Ralises Buadsi/aunto il Y
093Gy Gl Onaalali (el DAl Bulin 3 Lo w03y Yot ¢ getatiag a3 powzdt Wle
.QA:‘.“ a’pﬁffa. ula a._llt\c ;9?/(_)-:.-1.” b Z:‘Lu; é__ OS.&.A S J}-“‘ gj'j-,’ Lr'! I

ook '

Go to p'lgc 9.

TR : . English News Reporis (ENRs) . A

lt is argued that "The four letters of the word news have been
described as representing the four directions — North, East, West and
South. News can come from any of these directions.”

The translatiou' ' B

Jlasdl ey ¥ Silgad fias il Lle s g3 5L IS IS5 G A, Gy ol Jha

.g:,p‘.éa_o_” PR P L).A 44_:_. lS‘ un )Lu.y‘ (?JL u' O.xn:v :_n:un. '..Jy:}"j g_t)).“j Lg);u“s
dofe ok

The following will be an analysis of English news reports in various
areas. The elements of ENRs that we will talk about are:

1. Headlines in ENRs

2. The Intro/Lead in ENRs

3. External Voices (Quotations)

4. Weak Sourcing '

5. Frequently-Recurring Language

6. Active vs. Passive Voice

7. Connecting Strategies in ENRs

Let us statt w;th the Ilcadlmev Go to page 61:
e R . Headlines it ENRs .. e

1 The present tense is frequently used in ENR headlmes

For example,

Austrian chancellor calls early elections.

Y LN Ll Ryl a5l 2 daguadl slendl (a3l Bale puticin

LE RS

Go on: _
2. The possessive forms are often omitted "to create a telegraphic
style.”
- Telegraphic style: itis a style of writing which is very short.
AU 5 i dy yla ST 8 (telegraphic style) s
They omit unnecessary words to make the headline shorter.
The translation:

AYDI 2022/ T
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Y 1 % APy . 3 | A W C N
The headline should be very short. Sometimes, when you read it, it
makes no sensc becausc many things are omitted, for example, the
possessive forms are omitted.

_ Let us see the example: ___———— el
|— Mercy for husband W!Er : _— j
~ As you see, here we don’t have (his). Such possesSIve forms are omitted

from headlines.

Lo lle - v

# % ok

Go on: e : >
3. The in/definite articles are usually omitted in headlines “to cre@

telegraphic style” as weli.
The translation: o

s gl sbaey] By e glialt O (B

an, the) Sty oyl algal (ol 3ale oL .T |
S

For example,
Man shot dead in feud.

We don’t say (a man) or (the man) as you see.
k&K

Continue please:
4. Verbless headlines are commeonly used:
The translation:

OLE JSas Jo 095 Ol poid b

For example,
Lightened wallets, less traffic _‘
We don’t have a verb in this headline, but the message is received.

(Lightened wallets) means (they don’t have money), so they can’t afford
to buy a car, so there is less traffic.

EE X
Continue please:
5. “One should avoid usin
. g parts of weal v : ‘or'’ ave’ as
the main verb in headline. erb ‘to be’ or ‘to h
The translation:

(to be) ;i Ja A e i
d“’t_:")d“”u-«@gu'ad}%!‘alﬁmlg‘&;{axﬁm;ﬁﬁuﬁ%'o

et Ol et 1 et g e (0 have) ackull I

Bl
For cxample,
!

Scic ————

- N -
'~.{} Sav— =T g
g . WA~
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[ Teen crime execi:vions ‘shei .00

e

They didn’t say (are shamef L!}):*The} ;ilISl said (shameful).
* %k

Go on:

6. The comma sometimes replaced “and’ in the headline.
The translation:

Oyl 2 (g) Glaadl (o Jows Aolal! Jou Bilad 1

For example,

Authorities Close School, Enforce Quarantines to Hait Deadly Disease.

They didn’t say (and Enforce). They just put a (comma).
kK

Go on:

7. A headline can appear in the form of a direct quofation:

The (ranslation:

e ol Bipa KA e Guityl! olgill et o oSa

Stephanie: "l was not at wheel when Grace was killed”

Or:

Or indirect quotation:

For example:

Union leaders spied on colleagues, say police

%k

8. A headline can sometimes contain a verb in the present tense with
a present participle in apposition:

The translation:

Caghann Jols o dasll Jinlnll (yajy ol Liasiia a0l giall 00585 o (e A
Jdde

-

For example:
—

Sea salt halts Eurostar, stranding 7,000

It is a confusing headline. (Eurostar) is an international high speed
railviay services. It is a company that provides people with mecans of
transportation. The number (7.000) means (7.000 of passengers). What’s
the ineaning here?

It's a ship that stopped because of sea salt. They say (Sea salt halts
Eurostar) ie. they put it in present tense and in opposition they buf
(stranding) i.e. (present participle). (Stranding) means (make them stuck

e 5 ' AYDI2022/T1
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Le. (Uhe).

&k kK

Go on: _
9. The future tense is very rarely used and often replaced by tﬂ

infinitive in headline. o . o
The translation:

2 paally Olsgol @ Lo Wley Gl ouglid! 2ol b Jadad) ey A
il ()l glall
For example: .
- lLabour to spend 2 biilion on new roads programme.
- Parliament to decide a new policy tomarrow.
We can’t say (fabour will spend....) or (parliament will decide....).
In headlines, we don’t use (will); we use (to) because it refers to the
future.
¥k

The place where the news event occurred and the name of the news
agency that supplied the newspaper with the story usually follow the
headline.

- Lead/intro;: de3isll
It means:

SLSY1 Sy uly LW Sl 4 35 1 OISU e € Bole G I Olgiall g
mtg dameall oag) L_"ﬂt
We have the headline of the news report, and then they start mentioning

the place where the news event took place and the agency that supplied the
newspaper with this event.

(55450) 5 (Wl A0S ) Wl (agencies) N e Al

Go on:

e

More often than not, these are followed by the intro Eead). which is

c?nsi_dered the most crucial paragraph in the news report since it
highlights the most important element(s). ‘
It means:

e

P il ‘a = £ — ]
SN o 2 el i1 350 a3 Galy Raaal) il win okt (e S 2

N PN RPN y [ 2 a 3 BS‘tlU:’j
I (e o) e gal Gl sgidl dabud Lgid U3 |

————————
. e

Scietres - R Y - e G TN g
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The lea(.i/intr_o is the first paragraph that tells us what happened, where,
and who did this? So, it's the most crucial and the most important part in
the news report.

Both the lead and the headline operate as a summary of the news
discourse

It means:
(oY Gllazl) jaseleS ¢yl gially Zaudll ¢ye S Jan
¥ %k
(lead) M g1 5 5 ligea o915
Go to page 72:
1. The _who intro, where the element "who has done it” is
foregrounded.

It means:

R-PRPY .é ";LL‘.:L.: r\lB k‘).n“ ).;a_';c )6]"-3 [RITEN "d""."!b rt& ':)‘4" Lg.t.ua.d ‘:.,.'Jl EPREILIN

*k ok

2. The what intro, where the element “what happened” is
foregrounded.

[t means:

2 "Gas BL" juale el G ")l Gasmy Bl e Lgallas oAt Aeadll LY
Aauall

%k K

3. The where intro, where the element "where it happened” is

foregrounded.
It means:

Aauatl 2 "Gus onl" juaie yaly G "ol GISs" Lgallaa Ul Lanall Y

Here the news report starts with the place in which the action happened.
4%

4. The when_intro, where the element “"when it happened” is
foregrounded.

It means:

Aouall 2 "G e jate jghhy Cus "Gt a3y e Lgallas 3 Zaall g

Here the news report starts with the time in which the action happened.
kK

5. The why intro, where the element “why it ﬂﬁ;i;g;ned" is
foregrounded.

It means:

Science of Translation 2.6 7 AYDI 2022/ T1
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"o aall By U Lgathe ) aadll o
Aaaal!

2. "masll p By cu’ puale el Cu>

Here the news report starts with the reason of the action, for example, in
the example of the husband who Killed his wife, if they start with (as a
result of a fight, husband kills wife), so they started with the reason of the

action.
* ok

6. The how intro, where the element “how it happened” is

foregrounded.
[t means:
2 "Gl g gdy mak" jwele jelu "gandl @3 Gl Lgallae Gl 2euall A
Aausli

It they started with (using a knife, husband kills his wile), it means they

started with the ‘how intro’.
sk ok ok ok ok ok oK

Sometimes, when you are reading a newspaper, you read quotations.
These quotations tell you that this person or this witness told us that. This
is called “quotation” or “external voice”. It means that what you are
going to read it’s not the voice of the writer of the report; it’s the voice of
another person i.e. it is an external voice.

- Quotation: o=

- External voice: > o2&

(words) o il s oall ndll (Lpm) (5 T L (voice) Al

(External voices) are the words of someone who is not the writer of the
news report.

Go to page 75:

R R L Y

4 AT R TR SR I LM SRR
External Voiges (Quatations)

Quotations are extensively used in news reports. They make the news

report more factual and give the news reporter the chance to display
different points of view.

- Point of view = viewpoint: Jbidea s
It means:
awsly LT ladl Ll (e Jand go 2oladl polal 2 5,5 clulasdl pasis
Exlen:nal voices are not the voice of the writer. They are the talks of
some witnesses, for example. '
W iy sl Obins llaa ) lie 3565 A0S (553 a8 Sl 038

e

Science of Translation 2.6 8 AYDI 2022/ T1
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Quotations can be direct, where the exact words of the original
speaker are preserved, and indirect, where the reporter says “...what the
speaker said in his own words. Both types are extensively used in English
news reports.

[t means:
s Ul Adod! alaldl Glo balaall @3 G 358l clulad¥l o6 o e
(o) 31S) 5o GlalSy Saall s Lo Ll (IS 3y5 i Spiilan yub (5SSl
e A S L3 ka2 5,5 pleastiun ple gUl NS,

- The same words — direct quotation
- Not the same words — indirect quotation

%k ok
Go to page 78:
In ENRs, quoting can be single, double, but very rarely triple.
It means:

b 8Ty (Ll 5l aphe LBV 068 o) Sas B3O 2,Lal slat 2
L u,Sg Lo'l_).ﬂ.'n

Let us see the examples in the book:

An explosion ripped through a police building in the Chechen capital,
Grozay, on Thursday, killing at least nine people and injuring several
others, an official said.

This is a single quotation (an official said).

A police source told CNN that Mr. Moose's far from clear statements
were aimed directly at the sniper.

(CNN) _s3l (A police source) ¢ sk bl J8 Ge i Lsal Ua !
4k

Go to page 81:

It is important to note here that the direct quotation should be
translated as a direct guotation in the target text, and the indirect
quotation should be translated as indirect guotation.

It means:

C’”' 2 il pulidl Y] dianyd qem AL okaBN o O] Blad! La @eld e
Lol il e dren )3 o 2Ll et GulB¥ls gl
I

il pue e

Continue on page 81:

Wfor reasons of clarity, the translator feels obliged to take piecef ;l
information from the text itself and add them to the direct quotation, |

\M_ -

SciellCe of Translation 2.6 9 AYD! 2022/ T1
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the additional bit(s) should be included between square brackets to
show the text receiver that they are the words of the translator and not

the exact words of the quoted person.

It mecans: I

UA:L“ oA QLa}L’.U ").n ;‘)aj .l.'%‘L_l fl)lﬂ 43“.J lc_a,m_g.n) éhrl ul:w,}) ‘PJ:‘U ‘}m
cro ALl ol slall/Aaglall (heid ade o L bl pubamyh M Lgalaly aug
et @l cauds @l ol olalsl! sda Hls paill GAEL Okdd Oteg n (s

Sometimes, if you want (o translate something that culturally confusing
and you want to éxplain (o your Arab readers this thing in English and yoy
don’t have an equivalent word in Arabic, you can add your own words
but you should put them inside square brackets (2=, 04154).

- Square brackets: [.....]

We will stop here in the theoretical part becausc it has a fot of
information.

sk e

Now, let us move to our text for today.

IS yailly palaay o )El e OIS Gt Gagball 5alt o] ladll <Lide Jis
At 2wl LS LGSl Gl sliadll LSELY dluls Osh! elind Lol Gad Lsle

L L s Bbgylo aga (oo Ve 0S8 0B il ol elalall wiiay (elI3 cya Yty
Ligils ¢y sSamn pailt e aludawodl hin 5806 oF QI sbatall HLaly Y18 ale il

Sl Gnbe/ 513 8 20 el alulaodl di e 2 N sy wauos cleld! pliaiadg
plloan sladll 2 graga Al am pa)¥ (M ages ¥ G AW 33030 Lo llag
"asladt ol

a3l & oSl o ball plulaal Sl g GES (e Jb pdpw sl imall 1S
zaliys Qe ¢ Y910 ale Gllail zg5ball ol asS ill ghe Jo @biladl Joey Coias
. atbabs ¢ sbY ol " (8] ulus”

2 Gl Folo il wme wlld e Yugy s Syl @] 91 Jon $he oS
38ye gl Gl Adall "V 3 - 0 ulis” Aega s o3mS Yodt SV oyl s
, adll ) Bpehen 25028

T A b3l "old gulian lisle” 36a e bguSle Bilige sgudyt JB
0= My landll alan x:::;;t:fm“‘ £ L'xd.'sfm -CA‘:M

3 = Sonsdl Onadl ane” (e i wilin OF eas

. _—-.‘——,/
Science of Translation 2.6 10 AYDI] 2022/T1
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RONES SrC N UL N PR

Jles Ols ool @By 2 lld Osledy Oneglall e 3B wbs 5 Sk GLal,
Sgama Jalal! 53l

o e ¥ e B ala¥l (S 0¥ el 2l asla 553l 2. 3y,5 waddy
A2le 033 wbB Gaes Hlas 2 5aga5lly Lgd el ud alaal oLl

ssbalt 42 J152 T S BLESV 5" : Joatly Sl e By gy cLinall UIS, ey
alS U e Oty ULt G sae 58136508 g ebinall o 300 M dsladl S5
T AALAIN 2R Al ele claciney (SULY! cilale addey dsladl

g il 2 Gl el Gl e R B A Ty e ) B gaSle gyl Jl5
TNt ale Grall Fy)ball 3] (pa ga o3l

It O3S alabaa¥ Lia o N5 81 Galiag) e (o ot o J1B 0B IS
el bl 55 #ylall iy L pedlly 4 @Sata yu § g5kl

4%
Did you like the text?
Student: no, we didn’t. It is difficult,
Instructor: it is different from previous texts since we have talked
about coronavirus.
Let us see the first sentence:

I 2 edtly asleas ol a3 e IS gl o> aoball all ol slinath slele Lo
Aladl 2 0l S LT ol sl (LAY Wil osb) galiyd Lol Gud ol

Who would like to try?

Student:

Space scientists said that the rocket part that was scheduled to coliide
with the moon in March was not part of Elon Musk’s space exploration
initially thought.

Instructor: thank you. You said (scheduled) and this is wrong here.

Do you have any suggestions?

Student: planned.

Student: supposed.

Instructor: no, they aren’t. Here we say (set 10).

Student; is there any difference between using (missilt_:) and (rocket)?

Instructor: yes, there is. Here it is a (rocket) not (.missﬂe).

We can say (astronomers) instead of (space scientists).

- Astronomers: ¢laill elile

Do not mix between (astronomer) and (astronaut).

Sep T - AYDI 2622/ T1
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- Astronaut: eluaé i) _ ‘ .
Here we don't (ranslate (pbesy) to (collide). We use (cellide) when we
have {wo objects are in motion and they both hit each other. FHere we have

one thing moves and gels a crash into something.
rocket :F s ta -

rocket section (>3 )ba e ja

set to ;s a8

crash pxhay -

exploration sl .

as it was first thought :Adall (8 aiiey HIS LS

We can say,

Astronomers say that a rocket section set 0 crash into the Moon in

March did not come from Elon Musk's space exploration company as it

was first thought.
Student:

Y(crash) ¢ Yy (hit) B o oS
Instructor: _
I(’s better to say (crash) because (crash) means it has an effect.
Student: ) )
f(scction) (s Y (part) pasdud o (e da
Instructor: yes, it is true.
Student:
f(eb) Wl ol L (programme) 4elS padius Ol oS Ja
Instructor: ves, it is true.
$ekk
Go on:
l_'j! .'12”@3' .a._&..,;.m '&._;3_9_;[;4 :L'AGA C)A "G}% O_}S._l J.“B ¢L‘3 O.‘ ;L&.L_” ..\.33:.3 LL‘_Us OA (gJ..‘j
Laals ¢y gSaw 5e3ll e alabas¥ s 5806 o Il elaldt Hlals Y08 ale yadl
Who would like to try?
Student:

And instead of that, scientists thought that could be a part of Chinese
rocket mission launched to the Moon in 2014. Scientists have indicated
that the impact of this collision on the Moon will be slight.

Instructor:

(instead of that) vl s (instead) Jséi ol ke (and) - el lag o WS ¥
.(minor) Jsii Laily (slight) J st of Gde oa

Student:
f(minor) o Ya (mild) Jsii of oSar O
, R
Science of Translation 2.6 17 - AYDI 2022/ T1
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Insiructor: no, we can’t, (Minor) is better.
Student:
fUs (astronomers) ql (scientists) Jsii of Lule Ja
Instructer: we can say (they believe) because the word (sLela!t) refers to
the previous sentence.
Student:
fUs (believe) ol (think) Js@ of Lale Ja
Instructor:
initia! step of the ) I o (thinking) Wl y (slie ) Ll oY (believe) Jsii ol Lide
.(process
instead ;25 e Y -
impact il -
collision :plxlaal -
ininor sk -
We can say,
Instead they believe that it is probably a Chinese rocket launched for a
lunar mission in 2014. The impact of the collision with the Moon will be

minor, scientists say.
Student:

f(launched) ¢ Yy (set out) Js& o} oSar Ja
Instructor:
It’s correct but what we mean here is not (set out). I said (launched)
because here we’re indicating (Uil & 5 oball i),
Ua Loy o3 8 Y oy of 1S i gl ¢ J8 U Wl LS Laliasd (st out) Lol
(il & 5 jkalt) of e aklils

Student: . ,
f(launched) o= Y (take off) Jsii Ol (San Ja

instructor: no, we can’t.

- Take off: ali:
e (3 )bal Glhaily J 5 e Wl

We can say (a mission to the Moon) but it’s better to say (a lunar
mission),
Student: ) -
?(c[‘ash) [EPRESIW) d.‘s.\s dﬁj Liay (colllsion) A€ Laadiingd 130
A (plakaal) 1,5€ (original text) D »639 (collision) Lieasiuld Lia Le!; «(crash)
11 ohliehtine the idea of it is going tc ke a huge thing.
1ey are not highlighting the idea going L Ll i

~

(collision) Ul lizd (zik il of) 1M G s

 SHE e e N 022/ 7T1
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Continue please: e —

Jatt o)1l ¢ 2 el plalauadU a3yl & Mo JJ.\su ;LAJ'J! gllanaly
ot aga ¥ N A el Gle Gllay
"‘-4:‘31 - -!l C_,L.!L‘j_'d“"!

pllans laall & lguags plal on

" Who would like to try?
Student:
Scientists could identify a self-
on the coming 4" of March.

Instructor:

acting mass in its way to crash the Moon

(self-acting mass) (o pran)

Student: L
f(robot) Jsii ol (Sa s

Instructor: no, we can't. I’s not a (robot). What they mean here is a

(machinery) i.c. it is a (machine). - )
L (on the 4" of March) Js& i (on the coming 4 March) Jst ¥

What about (0bad CLlH?
Studenf: space wastes.
Instructor: no, they aren’t. They are (space junk). It’s not waste, trash,

or garbage.
identified s -
on course :4ib 3 -
machinery ;s -
completing mission :iaga slail -
space junk :Alaad UL -

We can say,

Astronomers first identified a piece of machinery on course to crash
into the Moon on the 4" of March. Machineries left in space that don't
return to the Earth's atmosphere after completing missions are known as
space junk.

Student:

—

f(on course) = Y (on its way) st of oSa Ja
Instructor: yes, you can.
3k ¥

Go on:
el A s Fgslall alubaal Jliisl (e i€ fya Jol 42w aliy) asall OIS
eeline Oad V010 ale Glail fgsLall o ass gt e Jo amﬁh ey Lisetans
arlibe oy sl¥ aulilt S um‘-u:

B

——— i

o . F2R

14 AV
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who would like to try?

Student:
The possibility of rocket Falcon 9 collision with the Moon was first

reviled by journalist Eric Berger assisted by data analyst Bill Gray who
disclosed that the rocket launched in 2015 within the programme of Elon
Musk.

Instructor:
(disclosed) uuls (reviled) Jsis o G

First, we need to say (was launched) because it is in the passive voice.
You said (collision); (collision) and (crash) both are correct, but (hit) refers
to less impact.

Student:
And the first one who discovered the possibility of crashing the Moon

by Falcon 9 rocket was the journalist Eric Berger with the help of Bill
Gray data analyze which discovered that the rocket was launched in 2015

within SpaceX programme belonged to Elon Musk.

Instructor: thank you.

Don’t start your sentence with (and). You should say (data analyst) not
(data analyze). He didn’t (discover); he reviled.
S ey RS o) g
possibility :Jlial -
depending on :Usiuea -
data analyst ;Ui Jlaa -
reviled :adS -

We can say,
The journalist Eric Berger was the first to report the possibility of

rocket Falcon 9 crashing into the Moon depending on data analyst Bill
Gray who reviled that the rocket was launched in 2015 by Elon Musk's

space exploration programme SpaceX.
Student:

¢Y ol (depending on Bill Gray data analyst) Jst o oS da

Instructor: N

It’s better to say (data analyst Bill Gray), or you can say (Bill Gray the
data analyst).

Student:

O« Yy (with the helping of Bill Gray data analyst) Js& Ol ¢Se ds

¢(depending on Bill Gray data analyst).

Instructor: yes, you can.
& &k

Science of Translation 2.6 15 AYDI2022/T1
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